Name Date Hour

Study Guide for Unit 3 Migration

Paragraph Writing:

Type of data Germany Canada
Population to nearest 82,600 31,900
thousand
Area (in square miles) 137,830 3,849,670
Arithmetic population 599 8
density
Percent of people who own 43% 68%
their own homes
Average Daily Commute 42 26
Time

1. Explain who has a higher population density and how. Please include total population and

area when explaining density.

2. Is Germany or Canada more urban? Explain.

3. Living in an urban area can be both positive and negative.
What is one challenge this table exposes to living in a more urban place?



Use your notes and any other resources to complete the following:

What is a county’s natural rate of increase?

What is a country’s life expectancy?

Generally, what has the population trend in Europe been for the past decade?

Generally, what has the population trend in the developing countries been?

Vocabulary Words:

Please define each of the following terms.

Population density

Developing nations (less developed)

Developed nations (more developed)

Immigration

Emigration

Net migration



Pull factor

Push factor

Artifacts

Archeologist

Urbanization

Mega city

Slum

Short Answer

1. Explain why some regions of the world have positive net migration (they “pull” lots of
migrants), and other regions have negative net migration (they “push” more migrants)?




2. Thoroughly explain the land bridge theory.

3. Discuss evidence that conflicts with the land bridge theory. What does this mean? (i.e. Is
the land bridge theory wrong?)

4. Why is urbanization happening?

5. Why is urbanization needed if our world population keeps growing?




6. What are the negative effects or urbanization? What are some solutions?

7. What countries tend to be more urban or rural? Why?




